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Tabla de derivadas

Constante y=k y' =0
Identidad y =X y' =1
Suma y=f£(x) +g(x) | ¥y =£(x) +q'(x) y = £(x) +q(x) + h(x) | y'= £(x) + ¢'(x) + h'(x)
y' = £/{x)g(x)h(x) +
y = £(x)-qx) | y' = £1(x)g(x) + £(x)g'(x) | ¥ = £(x)-g(x)-h(x)
+ £(x)g’ (x)h(x) + £(x)g(x)h"(x)
Producto
£(x) £(x)
y = k-£(x) y' = k£(x) y=— yh=—
k k
£(x) £1(x)g(x) - £(x)g"(x)
y=— y' = "
g(x) ( g(x) )
Cociente
-1 1 -1
y=- V= y=— y' = S E )
X £(x) ( £(x) )
Composicidn y = g(f(x)) y' =g (f(x)) - £1(x) y = h(g(£(x))) ¥/ = ' (g(f(x))) - ¢'(E(x)) - £'(x)
Potencia y=x y' =™ y= (f(x) )" y' = n(f(x))" £ (x)
1 1
Raiz cuadrada | y =/ yl = — y = J{ £(x)) y! = £1(x)
2x 2[(E(0)
1 1
y=1nx y' = - y = 1n £(x) y! = —£7(x)
X f(x)
Logaritmo
11 1 1 1 £'(%)
y=1log ¥ y/ = ——=-.10g e y = log £(x) y' = — £ (x)— = -log e
* xlm x ° * £(x) Ina f(x) :
y=e" y' = e y=e' ™ y' = et (x)
Exponencial
y=a y'=a" - Ina =" y'=a % s Ina - £/(x)
Seno y = sen x y' = cos X y = sen (f(x)) y' = cos (f(x)) - £'(x)
Coseno y = €0S X y/ = - senx y = cos (£(x)) y' == sen (f(x)) - £'(x)
1 £'(x)
Tangente y=tgx y' = —— = sec”x = 1#tg’x | y = tg (£(x)) 1= = sec”f(x) - £1(x) =...
cos”x cos’£(x)
1 1
Arco seno y = arcsen X y' = = y = arcsen (f£(x)) y! = £7(x)
(1-x7) (1-£(x)7)
-1 -1
Arco coseno y = arccos X y! = - y = arccos (f(x)) y! = - £7(x)
(1-x7) (1-£(x))
1 1
Arco tangente | vy = arctg x y! = y = arctg (f(x)) y! = £1(x)
14x 1+ (£(x))?
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